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FCCAnalyses: FCC-ee Simulation (Delphes)

1020 T | T | T | T | T | T | T | T | T | T
s =240 GeV, L=10.8 ab™ ]
1018i e'e ~ZH,Z - vv,H - 1.1, B
10'° ~ E5>100 GeV, BDT score>0.5 B
10 =
__ Z(qq)H(tT) Cww ]z - QQ ]
1022 —— zayHan B2z Eete- ]
o —— ZOWH( [ Jee - 11 [Cle'e - vy, Z |
1080 Ty - i I Z(tOH(tT) —
o B Z(HH(QQ) [ Z(t1)H(g9) —
10" = B Z(t)H(VV) [ Z(w)H(QQ) —
6 [JZ(v)H(@g)  [JZWHVW)
10°F [C1zHvY) D ZE@@HVY)
104 — J_l_l—'_'_'_'/ —
102 =
14— —
102 -
1074 =
10—6 L; Ll . _|J_|_|i=l_

-100 -80 -60 -40 -20 O 20 40 60 80 100

T [GeV]

sublead py



	Contents
	Page 1


